52 (M) Maths Homework ¥

1) Write out these numbers in full.
a) &3x10° b) 745 x 107
g] 597 x 107 d) 2643 = 10°

2} Convert these rumbers into Scientific Motation.
a) 032 By 0005 c) 0078
d) 0000083 &) 00000071 ) 000000007

3} Complete these drawings so that they have quarter turn
5:.-'r11.rn-3'|'r'g,l about the dot.
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4] Measure the length of this piece of paper.
The teacher |.'.'||| accept an answer of (210 + 3)mm.

@) What is the highest answer the teacher will accept?

B)  What is the lowest answer the teacher will accept?

) A pupil is asked fo measure this angle in a test.
The angle is 42
The marking scheme allows (42 # 2)=.
The pupil say=s the angle is 242,
Does the pupil get the mork? Fully explain vouwr orswer.

6} Apples on sale at a particular supermarket must have a
diameter of between 5 cmand 7 em.
Write this in tolerance notation.

7} For sofety reasons a rivet joint in an ceroplone must be
between 198 mm and 202 mm.
Write this in tolerance notation.
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